[Time: 3 Hours]

Please check whether you have got the right questi
All questions are Compulsory.
In each question, attempt any four sub-questio;
Each questions carries 20 marks. Each sub
Use of a simple calculator is allowed.
Use of a scientific calculator, digital dia
Graphs must be drawn on the graph
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1. Attempt any four from (A), (B), (C), (D) and:
(A) Find the derivative of y with respect to'x:
L y=6(x")+log90+2(4") 4"
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ii. y = (log X+ x)(Sx5 + 55)"‘“

(B) The Total Revenue R for quant Total 05

otal cost 05
is minimum. Also ﬁnd the minim

(D) Find the elasticity o 05

(E) The demand function and the supplyfunction for a conimo givenby D=400— 05
p? and S =100+ Spe e rateof ¢ :

it after 4 years of a principal 05

s after 3 years. He wishes to put 05
pound interest p.a., so that after 3
Jow much should he put a51de now?
of ch year for 4 years, at 10% p.a. compound 05
nery Wthh is expected to cost ¥ 50,00,000 at that time?

05

I tumed‘m4 monthly instalments at the rate of 12% p.a. 05
the EMI using the reducing balance method.

05

ssume that no rank is repeated.)
b s of two variable X & Y are 6 and 8 and their variance are 25 and 05
_ffic:lent of correlation is 0.53 find likely value of y when x = 102

, Turn Over
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X | 6 | 2 101 4 T 3
y | 9 |11 ] 5 | 8§ | 7

(D/} The regression equation of y on x is 10y - 9x = - 40 and

10x — 4y = 80. Find -

1) X and yM

ii) Correlation coefficient 2]
2t P 18 ad 5]
vy 12151318 |7
(E) Define ‘Regression’ why there are two':

there will be only one regression line

4. Attempt any four from (A), (B), (C)
Compute the seasonal indices

<

Year
1
2005 55
2006 56
2007 57
(B) Construct Inde
Commod

2007

2008

26

25

lowing data.

Base year

Price

Quantity

2

20

4 4

15

3

40

5. Attempt any four from (A), (B), (C), (D) and (E):

(A) A student calculates mean as 5 and variance as 9 fora Bmo

Is his calculation correct? Justify.

(B) If x has a Poisson distribution with parameter m such

Find P[x 23],
[ =0. 0183]
(C) If Random Variable x - » (4,25) then find

(D) The company having 5000 workers whg
wage < 800 with S.D. of wage ¥ 200 fi
[Area between Z=0and Z =1 is 0.34

05

05

05

05




